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Jwphh npudwgpdwl yuydwbabpp?

1.1 Updnyp 22 npud
1.2 Unwykjugnyb gnudup 20 U
1.3 Unwybjugnyu dudljtinn (wdhu) 36
1.4 Swpkljut mnlnuwnpniyp Uhtsh 22%
Zupquplynid L Jupyh gnidwph tjuqnn
15 Snynutitiph hwpyupydwi Yupg duwgnpnh tjuwndwdp’ hhdp pungniuking wwpht
365 on
1.6 duwunwgh wnnljnuwnpnypd Uhtsh 29.41%
1.7 Jwnly/qpuy hwpwpbpuljgnipinil Unwybkjugnyup 70%
18 Quihiwy&wph tjuqugnyu swthp (% 30%
dtnpptpynn gnuyph wipdtiphg)
1.9 Spudwunpdut knuuly Uulwifuhly, juuphly
1.10 jﬂﬁﬁﬁlﬁpdmh apnzuwl fuyugiut 3 wouwwnwipujht opduw pupwgpnid
1.11 }Slllilu;ﬁluﬁil;iuﬁz ilnlllirrllzhiulili;;[:[uhh 1 wpjnwnuwipuyht opyw plpugpnid
Zwdwhunpnh Ynnuhg Jupyh dbwfbpydwt hwdwp
112 Gnudwph hwutwgh npudwunpdub wlhpwdtown pninp hwuwnwpnphpp
dudljtwn ukpluyugubinig htwnn 5 wpjuwnwtipuhi opgu
pupwgpnid
Suranungus/ gt snpundunpus 50,000 npud, uwjuyyt ny wyk] put btwpalhe
1.13 npnodwit hwdwp quudjus/quudybihp
Juplh wuydwubph JEpuwgnid
Uhgunprudwph gndwpp
2 Pwblh b Eppnpn whdwbg nnuhg vunnniging Swnuynipim bbbph dhobnppunjlwpbbn
0.5%- dwmutimughinnugdwé jputimip-upwhhg dtknp
21 Juplhh npudunpdut dhwidug phiptnt nwypnid,
' dhounpyuydwp 1%- dtwugwé wy nhiypbpnid:
‘Ljwquqgnyup' 25,000 22 gpud
2.2 Qpuwih guwhwndwt dninwynp swijuu 20,000 zZ npud
2.3 Quihuhljugnid 0%
Unwnwynp wy] wmthpudbown swijuukp’
2.4 Juydws gpuyh dwlbpydwt b 20,000 zZ npud
whunwlwt gpuigdwut hkwn
3. Jwplhh dwupdwh yuydwbhakpp




Uduwljutt wmtinthnbnwght jud dwjp gnudwuph

3.1 Uwpdwt tnubwly hujwuwpwswth ydwpubp® pun hwmdwpnpnph
guulnipjuit
3.2 Junudwdlbn dupnid -
Juplh gnidwph dwpdwi Jhnwbgh
3.3 ntypmid’ nnlnu dupdwb Eipulu 0.1%
gnidwiphg
Snljnuwgnidwpp dwpdwb fEnwugh
3.4 ntypnid’ mnljnu dwupdwb tipulju 0.2%
gnidwphg
dunljtanutig gnutwph (Jwpy, ‘Lwwwinbuyws k22 Lwn. Opkluugpph 411 hnnJwsh
3.5 nnlnuwgnidup) ajundudp
wwhwuetbkpny
hwpJuplynn wnnuwnpnyp
Unuhpnphugh
3.6 gnpénnnipniutbkpht 50,000 npuad
hunspugnunbint gypnid’ wniniquip
3.7 jgfﬁgfgﬁiﬁ?ugzﬁlgpm Up N tyunwljuyht ognugnpéwsé gnidwph 10%-h
oquuuugnpdhint nhypmd’ nnyd surhny
Qnpdnn wuydwbwgph (Jupluyhls,
gpuyh, wy) wuydwbubkph, dupdwt
8| qpudhth hnpnfunpymty 20,000 gpunt
Jhputwynud®
Spwjunpjws gnypp wy) putlynud
3.9 hwonpnnn gpuyh hpwyniupny qgpuy 100,000 npwd
nuknt poyjuynipjut mpudwnpnid®
4 Qnui/h ghhwrhwwnnmy b wywhnywgpnipinti
NMwpuunhp: Geph dkpktwb dknp E phpynid
41 Gnuyh ontjuwyuljut wpdtph Enpypnpnught onijuyhg, wyw ghwhwwnnidp whnp
' guwhwundwt yuwhwy E hpwljuwtwgyh Futlhh htkn hwdwgnpsuligny
quwhwwnnn puljpnipnitubnh Ynndhg
Qpurh wuyuhndugpntpyurt wuhwbg Uywhnjugpmipinitt hpujubugynd £ Futlhh
4.2 nn dwdlyknh hutw ynnuhg, hulj npu wpdtipp kpwews EJupljh
duphh nng I wunlnuwnpniph dko:
5. Uwywhnynipni b
Qbnpplpynn wynndbptiwb, whdtwlwut
5.1 Juplh wywhnynipjniup PF p]{ilplzljul llanlfL[&]nthhp 4
5.2 Spuwyh qunudbnt Juypp Zujyuwunwth Zutpuybnnipniu
6. Uy wwhwlohbp
Junplywnntu sybwp E nitubkuw dudljlnwtg
6.1 Juplyught warmdm pym G wupunuwynpnipjntutiip Juplh npudwunpdub

wwhht jud nput bwjunpynn Eptip mupdu
npupwgpnid

U SQju qupluyphtt Swpnwympiniup wnwowplynid b pugwpwwybu pwiljh hwdwhnppubphl, Ywd
Ytpohtlikphu htwn juwgws widwbg nEjudupibp, ubthwuiuontpbp b wyi:

2 Loyws wuydwbubphg otnnidutpny Jupluyhtt hwynbpp pwtyh Ynndhg Jupnn bu dbpddlp jud
hwuwnwwnyby tpdws ninnuwnpniyphg 1-2 uinljnuwyht fEnny pupdp ninnuwngpnypny:

Swplyh nwupkjut hwuunwgh nnnuungponypp gnyg E viwhu, ph npput jupdbiw Juplp Zwdwjunpnh
hudwp' nninuugnidwpbtppn b wy] wthpwdbyn Jdupubpp vwhdwiws dwdjbniubpnid b swthtpnyg
Juwnwpbnt nhypnud:




4 Uunithnbnp Bupunponud £ Jupyh b nninuwgnidwpibph wdbbwduyyw huwjuwuwpuwswd dwpnidubp:
*Gnpénn wuydwbwgph thothnjunipmit Bt hwdwpynud wntiJuqe hbnlyw) gwypbpp, ek wy ghwypbph
hwdwp wnwtudht npnonud shuyugyh Futthh dwpluyhtt YUndhwnkh Ynnuhg
e Jupiuht wuwdwbwgpny uvwhdwbqwés dwpmdubph dwudwbwlwugnygh Jepuwbugnidp, bpb
ywsh hudwp twhpwnbudus sk Junudwdljin dupdwt hwdwp vwhdwidws winydh Jwpnid,
e hwdwpnpph ghunwdh hwdwduyt qupluyhtt wwpdwbwgph wy) wuydwbbbph (unnuwnpnyp,
Jupyh btyuwwnuly, mupudunpiub tputwy b wy) hothnjunipemniip,
¢ hwdwpnpph nphinudh hwdwdwjt wmywhnympjut, wn pynid’ gpuh jud Epuwohiwdnpnipjub
wuydwbwgph hhdtwwt  wuydwbubph dindnjmpmoiip, qpuyh jud  Epupfuwdnpnipjut
Junududljtn wdpnpouljut jud duubwlh wquunudp b wyh
¢ uwljmughtp sh mwpwdymd wyb yuydwbhwgptph thnthnpunipjut Ypw, npng thnthnjumipiniup by
wy] yujdwbwgph thnthnpunipjut hbnbwbp
6 Uwjuquh weuwynipnibp sh iowbwlynid APutyh Ynnuhg ywhwieynn poypinynipiniip npudwunplnt
wwpunwljuinipntl, b bjuknyg dh owpp opjijnhy b unipjiljnpy gnpénuiibinhg Futtlyp Yupnn k dkpdty
hwdwpnpph phunudp, wpwbg yundwrwpwinipintbibp b hhdtwynpnidubp thpjuyugubine:



